AR TEBRRLLELEERT > AV URRREA

1148 &R L olhms 4 2 8L L RIRITERE 4

BLEE#E)en e H - R e
[£F )

YD (%) | &5 (A) (C3103)

>

TEARER—

By

L HREERE 100 44 -
L FAERE TS FAEE A -3k 2 FE REAH
CFPHEE T EBEE) e T ER LR

. HiFagE 20 47




A i N -

#=5(A)
HE3 > £ 2048 -
W % 1403 % 2040 245 A o
1. # k- 22 %7 %58 X°+6x<5fFch i Fl 5 7 2
(A) 1<x<5
(B) -5<x<-1
(C) x>-1& x<-5
(D) x>5& x<1
3x—5y<1:
2. E(XY) L A- Zm A %N 2X+y<13#0 4 5 § A b iz - B
Tx—3y>1:

2 of(xy)=3x+ay t(4,5)F B~ B > F RahFEF @ ?

(A) azg

(B) az—3

(C) log ;>123~log, 1

(D) log, 5
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(A) afrbese = 2 Flic 5 2
(B) a+b=12
(C) ab=30
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(A) 31'x 41 x 31 x 3
(B) 3 x 4! x 3! x 3!
(C) 21 x 41 x 3! x 3!
(D) 41 x 3! x 3!
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(A) 18
(B) 36
(C) 72
(D) 120

7. ¥R - 33 o0 OB F - S oo WAL TE F 1 0 Hind 2
B0 T F @R 2R 0 P e © AoHE S B d s M s S
de k(=)0 2 A @ A Y B3R 0 EAXSYIE L P 9

2t $ic 1 2 3 4 5 6

2(-) B X y y y y
1 1
A ——.y==
(A) x 1 Y=3
1 1
B —Z.y=_—_
(B) x 3 V=15
1 3
C ——.y=_"
(C) x £ V=2
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(A) 4
(B) 5
(C) 6
(D) 7
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(A) f(x)=6
(B) f(x)=2x+5
(C) f(x)=5x+2
(D) f(x)=x>+2x+5
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(A) 64
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(B) 5x—7y=0
(C) 7x+5y=0
(D) 7x-5y=0

14.% x+1% f(X)=7C-4x+a %3 » fla="?
(A) -3
(B) -1
(C) 1
(D) 3
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(A) 12
(B) 13
(C) 14
(D) 15
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(A) 7

(B) 9

(C) 11

(D) 13
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(A) (x+2)?+(y-7)>=4
(B) (x=2)?+(y+7)?=4
(C) (x+2)%+(y-7)%>=42
(D) (x=2)2+(y+7)>=4?
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(A) 260
(B) 270
(C) 280
(D) 290
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(A) 104,000

(B) 104,040

(C) 140,000

(D) 144,000



